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QUESTION 1

In which SAP HANA studio perspective do you find the Quick View tab options? Please choose the correct
answer.

Response:

A. Developer perspective

B. Modeler perspective

C. Plan visualizer perspective

D. Administration perspective

Correct Answer: B

QUESTION 2

You are using SAP BusinessObjects Data Services as your ETL tool. What is the next step required after you have
created the DataStore and imported the metadata from an SAP ERP system into SAP HANA?

A. Import data from the SAP ERP system into SAP HANA.

B. Create an SAP BusinessObjects Data Services job to migrate data to SAP HANA.

C. Import the metadata from SAP HANA into SAP BusinessObjects Data Services.

D. Create a connection in SAP BusinessObjects Data Services to the SAP ERP system.

Correct Answer: C

QUESTION 3

Which of the following can you use to implement currency conversion in an information model? (Choose two)
A. A calculated column in a calculation view

B. A calculated column in an attribute view

C. A calculated column in an analytic view

D. A restricted column in an analytic view

Correct Answer: AC

QUESTION 4



Which SAP HANA studio function displays the views that will be affected when you rename an attribute
view?

Please choose the correct answer.

Response:

A. Neighbor

B. Where-used list

C. Properties

D. Tables used

Correct Answer: B

QUESTION 5

Prior to modeling in SAP HANA, you want to validate referential integrity between two very large tables in the SAP
HANA database.

Which SAP HANA tool would you use?
A. Data preview

B. View contents

C. View log

D. SQL console

Correct Answer: D

QUESTION 6

A new user has implemented an SAP HANA data model.

Which technical user requires select rights on the new user\\'s schema?
A. _SYS_REPO

B. _SYS_BIC

C. _SYS_BI

D. _SYS_SECURITY

Correct Answer: A




QUESTION 7

What node uses a special configuration table to optimize performance? Please choose the correct answer. Response:
A. Join node

B. Union node

C. Aggregation node

D. Projection node

Correct Answer: B

QUESTION 8

An SAP BusinessObjects Web Intelligence report throws an SQL error during query execution. Which of the following
could you check to resolve the error? (Choose two)

A. The business layer

B. The business view

C. The Web Intelligence report variables
D. The SAP HANA information model

Correct Answer: AD

QUESTION 9

You build a financial report for the company\\'s board members that allows them to choose if they want the
report to be in euros or dollars.

What do you use?

Please choose the correct answer.

Response:

A. A variable from the semantics node

B. A variable from a projection node

C. An input parameter from an aggregation node

D. An input parameter from the semantics node

Correct Answer: D




QUESTION 10

What information can you find in the Visualize Plan tool? There are 2 correct answers to this question. Response:
A. The SQL Plan Cache

B. The execution engines used

C. The number of records returned in each step

D. The time taken for each step

Correct Answer: CD

QUESTION 11

Which of the following is used to make hierarchies available to reporting tools?
A. CE Functions

B. MDX

C. SQLScript

D. SQL

Correct Answer: B

QUESTION 12

Which of the following data provisioning tools can you use to read data directly from Twitter? There are 3
correct answers to this question.

Response:

A. SAP HANA XS engine

B. SDI

C. SDA

D. SRS

E. SAP Data Services

Correct Answer: ABE
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